AVSASINEFAE

No K4 bk +—JL No. | 145 A
1 At 7 YMFSYa1=Z73IvhRI—)LEL 3297 @ 2
2 Bk SEEE YMFSYa1=Z73IvhRY—)LEL 3181 @ 6
3 ME O EA WERRIVNN—N—22 = F7IAYRNGST 2964 ] 3
4 #HA BELD EERRIVNN—N—2a2 = F7IAYRNIST 3177 © B3
5 ik EH BERFRIVMN—N—2a2=7IVRo5T 3114 5 2
6 RNE K EERRIVNN—N—2a2 = F7IAYRNIST 3320 E: =0 |

7 FA H3 EERRIVAN—N—22 = F7IAYRNIST 2887 ] =

8 F B EiE BEMRIVMFN—N—22=FIVRI5T 3246 ] Y]
9 hE BEE BEmREIVMN—N—221=FAYNIST 3220 =S ING
10 AR EH BEMRIVMFN—N—22=TFIVRI5T 3116 E: !
11 F+ —R EERRIVNN—N—22 = F7AYRNGST 3021 2] N6
12 BRI ) BRMELEE—IH 95D 2614 ;] ==}
13 @A KA BRMELER—IHH5D 3129 5 th2
14 A Bx BRMELEE—ILTH5T 2820 E: 2
15 BN BE BRTELVEE—)T 95T 3057 =S ING
16 A xR BRMELER—IH 55D 2943 B ING
17 O Rk BRTELEL—)T 55T 3219 ;] ING
18 EINES ) REE—VITH5T 3257 5 2
19 WE Xz BiEEEIST 2944 E: /1

20 A K BiEEEIST 2862 = ING
21 Il KA BiEEEIST 2987 E: i1

22 EE HIE BiEEEIST 3226 2 th2
23 A HE BiEEEIST 3028 =S F2
24 WE & BiEEEIST 3084 5 th2
25 $ARK  TABA BEREtE— U BRREMOA=TIST 3294 B ING
26 mE  KiE BEEtE— IV BRREMOA=TIST 3326 ;] &1

27 =F m¥ BEEtE— VBB REMOA=TIST 2877 = 2
28 RIX 0B BMED2=73avh50 3106 E:] 3
29 FHEI EKER BRERDA=73avk357 3112 ] ING
30 FEF B BED2=73vc57 3109 E: N6
31 IZNR FEGE BREDA=73avr350 3068 <y NG
32 Tl & BED1=73avN357 3047 ] Y]
33 )l BiE WEZWRC1=73IAvNI5T 3319 ;] i1

34 EF FEhk WMBERWMC1=7IAVRI5T 3261 g ING
35 J\K = WMBERWC1=7IAVRI5T 2897 kg 2
36 ¥ FE TIRRI/PFZERE—)TE 3284 kg 2
37 BH REE TIRRI/PFZERE—)TE 3285 g 2
38 A0 =¥ TIRRI/PFZERE—)TE 3242 kg &1

39 s 2 FEIVNE LS —XHS5TDa=7F 2891 E:] 2
40 80 —B FEIAVNENWLSE—RHI5TD1=7 2864 5 NS
41 =@ mE FEIAVNENWLE—RHI5TD1=7 3155 S NG
42 BHx AAR FEIVNE LT —XHS5TV1Z7 2842 ] ING
43 =R SERE ZSEEREQyYNEBE S =71 —XJuo5T 3323 ] 1

44 WH Mk INEIVRIZTD=T 3020 ] f2
45 BN INEIVRNIZTD=T 3262 5 2
46 AR ZEiE INBIAYRNISTDA=T 3259 ] 2
47 Tk REE INEIVRNIZTD=T 3162 5 2
48 BiE BEA INEIVRNIZTD=T 3288 5 ==

49 AF K%E IDEIVRNISTO=T 3182 E:] =

50 N-%A TE IOEIAVNIZTO=T 3125 S &1

51 EF #HKBEF INEIVRNIZTD=T 3282 £y ==




52 A& BHIE ADBEIAVNIZTTDa=T 3164 S el
53 BRER BEX IDBIAYNISTDa=T 3174 E NG
54 BN INEIVRNIZTD=T 3247 s NG
55 | A @A INEIVNISTS1=T 3211 (] N5
56 EH H—HB INEIVRNIZTD=T 3149 ;] ING
57 Rk = INBIAYNISTDA=T 3180 2 ING
58 | ZH #E INEIVNISTS1=7 3209 (] N5
59 A T IDEIAVNIZTTO=7T 3151 E NG
60 wE TIVY INEIVRNIZTO=T 3136 E:l NG
61 EH ZE&H ADBEIAVNIZTDa=T 3208 5 N4
62 WD EES S ADBIAVNIZTTDa=T 3093 £ a4
63 RER #EiE INEIAVRIZTD=T 3120 ;] N4
64 A BRAER IDEIVRNIS T 3201 E:] h4
65 o OE IDEIVRNIS T 3041 5 N4
66 mgE B EIWBTE—) TR 3306 £ &1
67 A EIWBTE—) TR 3305 £ i1
68 KRN FE EIWBTE—) TR 3304 E: &1
69 +tA E# EIWBTE—) TR 3303 £ &1
70 A HEF NI R DA S 3302 9 ING
71 AFEE BA EIWBTE—) TR 3170 £ i1
72 BEA Bz EINBTE—) T3 3169 £ &1
73 ER F NI R DA S 3168 5 &1
74 ®F B2 ELEMt—) OB 2993 E: NS
75 HZA EIWBTE—) T3 2992 B ING
76 T ES ETI R DA S 2893 9 ING
77 KiE  HEW ZILETE—) TR 2892 B INA
78 FE HF KMCHEES =73 vho5T 3228 5 F 3
79 | ZE@m Bk KMCIEES 1=7avro5D 3231 3 el
80 IA E2— KMCHEES =73 vko5T 3244 E:l NG
81 B & KMCHEEDS A =F7IAvko57 3010 2] NG
82 8 /NI 73 Z2nEIVvRIST 3176 E: h4
BUVSASIEFEE
No K% Pk t—JL No. | 51 o
1 L\ =HES YMFSTaZ73ybRY—LEIL 2675 5 M5
2 28 XKER YMFSYazZ73ybRI—ILELL 2139 ] N4
3 =k BEtHA BRTELERE—IVT 95T 3085 B NG
4 b= . BRMELEE—ILT 95T 2884 Z NG
5 IR BEHR BRTELVERE—ITH5T 70 7 IN4
6 HO ZEiE BERtE— I ERREMOA=THIST 2859 £ N4
7 K &BE WMELW 1=7Ivko357 3031 z ha
8 5K B TIOEIVNISTO1=T 3200 ES N4
9 x KB IDEIVNIZTOA=T 2911 z N4
10 FaE M IOEIVNIZSTOa=T 20 5 NG
11 TH £3x IDEIVNIZTOA=T 2978 2] ING
12 =M shKEA ELRTE—U TS 2608 E] N4
13 R Bz ZILETtE—) T he 2607 ] N4
14 HE ER ZLRTE—U T BE 2606 ES] NG
15 HE £7F ZLETt— e 2605 E: N
16 HE B ELRTE—U TS 2609 Z NG
17 %k EF ZILBETE—) T e 856 g N4
18 B B= KMCHED =73 vho57 2915 5 th2
19 XH B KMCHEDa=73aAvN5D 2970 S g
20 A FeE KMCHED =73 vho57 2925 £ ha
21 EHE. ENB ENEIAVNIST 990 B[4, 2




